
set 658 AREA:  olmert  start=256950 cyl size = 5557
numrows = 9 numcols = 30  comp = 2.700000e+002 pvalue=
0.0150000  (1,1)

5/04:10zrdny`ennrz`ixacxy`pecnlid`xil5/04:10

5/06:25epixy`kepevikk`iaidedikidl`l`d5/07:01

5/10:12lkaekytpxnylz`zevndedie`zeizwg5/10:13

5/13:17lyldvawzl`zekdagxxyetza`yz`rdi5/13:17

5/18:01lpeegpldl`didielaxwaig`ededied5/18:02

5/22:16ddy`ld`pyiedpde`ednyilrlznixac5/22:17

5/27:01il`xyiz`nrdxn`lxnyz`lkdndevxy`5/27:01

5/29:09yi`l`xyinkthnkiypkxbey`xaxwagn5/29:10

5/32:22lzizgzlk`zevx`dlaiedlzehicqend5/32:22

    5557 hxnle``
          3 lel`
          1 ny`en

          9 leti


